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Demonstrate understanding of
management accounting to inform
decision-making.
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of management accounting to inform
decision-making.

Demonstrate comprehensive
understanding of management
accounting to inform decision-making.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the

top of this page.

Pull out Resource Booklet 91408R from the centre of this booklet.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2-14 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.
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Notes:

Ignore GST for all calculations.

For any required calculations, you must provide detailed and labelled workings. Labelled
workings may be assessed.

Refer to the information provided in Resource Booklet 91408R to answer all questions.

QUESTION ONE

(@)

(b)

(©)

Define the cost concept ‘relevant range”, and explain a factor that will limit the relevant range

for Te Kete Matauranga Crafts (TKMC).
Note: You are NOT required to calculate relevant range.

Relevant range is the. vange at which at \east

one variable iS fixed and without cmé%i;?%'\s
[imits Ynhe » amount ol Produ«chan, within @
Companud. For TKMC a "{QCTOV thot limits Wi velevant
range s the flax as ‘Hnetj ave only able 1o access

flax Afrom the Council V(’.GJ\O"\ (h\“(hr\cj feg amount of
basbeh  thai they can produce. Therefore TMC

has 0 velevanyr Vanrf};e, e Se ok He v’ﬂﬂ’l()r\al areq
tha+ JLuﬂ ace  allowed fo SMu, Hro Hax Ffarvu/

If selling price is $70 per unit per kete, variable costs are $35 per kete, and fixed costs are
$11 340 per annum, calculate the contribution margin for each kete.

cm = SpP —VC
D70 b3S = M= 25

Contribution margin: 52)6 (per kete)

]
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Awhina and Pita want to produce a profit of $14 000 in TKMC's first year of operation.
Calculate how many kete they would need to sell to achieve this profit target.

probit + 18 oo £ 11,360
Cm (335) 25

Targeted kete production to achieve profit of $14000: 720\ kaskets
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(d)

(i)

(if)

3

Calculate the margin of safety in terms of the number of kete assuming that TKMC has
achieved the targeted kete production from (c) on the previous page.

B /Cr—:f: % T4 Laske b
3
Margin of safety: 0O number of kete

Explain the concept of “margin of safety”, and apply this to Awhina and Pita limiting
their student loans.

Tre Mars‘\f\ o} fﬁfﬁj in basheh Vs Ao number o
bashel Hhar  TEMC on sel _loe_«{or“{, Mg& e
breakeven wWipa M are Laver'mj.hir cocfi. To
achitve e $I4, 000 wovth of rroh't Anhina  and
Pha il need o produe oy baskets, ©o breaheven
ﬂﬂ@\j Wl need to produce U baskeh - This  medns
thay  TKMC has o marjif\,ol( Qafe,hj of Yoo bashkehr
and  develore TKMC  ould Sl oo less than ex pected
and stilL not  [ose mendy on Hheis bashen . oo basken
[N \wgﬂ, margm of faf&%!xﬁ and  chomd Show
Anbing  and  Pida  that J&\Uj coul 4 %_.AVOP
Sales of baskels b‘j oNtr nald dnd  SHU be
mqbnﬂ a_ (P:of\'k ael be  sble ko poy beck
Hotr Shudenr Joan. U{nders’mnd]r\ﬁ He mwﬁlh ok
Sﬂ\f‘fﬁj Wil enSur{ 4ot Aw\\mm ond Pita know
hon muth thy can drop Sales of baskels by
and Sﬁu ConhNUL 170&7 bacle Mbre student loon)
ama  that if T Lashoh Ts nek mek  then N‘j

200 Hhat H~e wouUld havt o AVOP o \ﬁcglﬁ

vaske 81 1bore Mﬁ Stoiv r\ml@i‘f\ﬁ « 083
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Justify the importance to Awhina and Pita of preparing and regularly updating a production
budget for TKMC.

Tre  preduction. loudaet wid ghewd Andhina and
Pter the vurriyna of Teroe ond  Are cost
Yo ave  aSsociofed as weld a5 how

MUCH v olume —had M Lk A will Sell.

s theﬂ v U % start ml@“\(\a koo (3
N e month  efore NS memné Hrat theoy

will need h 4nsuve that J’rLe\ﬁ have Cnough

o ovie Ne  cost asseciatecl Wit the  Tdurt
Mmondn Sales as the  cosks Matd cccur  He
Mo ol P’rcducﬁm,\“‘( 5 dlso A way 1o
ensuve +hon ‘\'\,—6\3 have Yo \owest coar oF
?rocluchc‘x\ iin cvza’ﬁf\%, Mo lbasbern b o
elurnm o @veo&,er p@%’b The preducton
oudget  con Asc ke corpared Lt th
actua | \omdﬂe}...and see £ certain owveas are
cos‘ﬁr\o5 move  Hhan \oudﬁffkeof\ o iy ond
MMA9e L35 and  mAXIimiae Prah"%-'ﬁr\@v&[’o‘r{,
Adhina  and (ita Shoul ol Pvﬂpmre and reju;-m{/j
wpdate e preduchiin budged o ﬂémf/
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QUESTION TWO

November, and December 2016.

(a) Complete the Cash Budget below for TKMC showing the receipts and payments for October,

TKMC
Cash Budget
October November December
Receipts
Grant from iwi 2000 0
Cash sales 100 Tu S0 4200
Cash from accounts receivable O 030 120\0
TOTAL RECEIPTS 27100 2080 SU LO
Less payments
Cellphone costs 59 55 55
Other fixed operating expenses 7_"[5 215 ¥ g L
Storage rental to marae committee | Q0 \00 60
Vehicle expenses \&o WO WO
Vehicle loan 1590 190 250
Wages to weavers \0w00 \L90 A0
Other variable costs 00 115 500
TOTAL PAYMENTS 1520 27uS | 4320
Surplus (deficit) of cash \ 18O 1% U0
Opening bank balance 250 W30 105
e o e | o | 1G5 | 1909
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(b)

7

Justify whether the Cash Budget you completed on page 6 indicates that TKMC will help
Awhina and Pita limit their student loan debt.

Include in your answer:

specific examples from the cash budget to support your explanation as to whether
TKMC will help to limit the student loan debt

an explanation of why Awhina and Pita need to understand that TKMC's cash budget is
estimating monthly kete sales.

Tne  Cash bu\dOSH Shons  the esnmoted (eceipid
from 4o basket Cales  and the echmated payments.
o product a Surplus or dehcit of cash for thay
month. KAOC  hal  esheaated 4 c\os'mﬁ boank. balan ce

that i&’.?GSlﬁ\(Q In Ockober , November, Pacember. This means

oy TOC s Vred_idec\ bovetten o profic for
Adhinn  and Piva ar will \M&\P pog back Hwic shudint
lan - & Odoler He dosmﬂ bank. bal ance ar\o\,ﬁ)ndf
avaliablt o VU univ<niH cosh is $1U30 due Yo

) $1150 Sulf?\uy& ok wsh ond Yo 9250 bank balance .
In Neutmbes e Ruinds avalioble are §1105 anol Decembe
$2905 - Tlewe S‘V:S\AVU o thoy dee fota dag‘v\a ba\ance s

o ncreaie S oddere  §7405 could e used  fwardh Adhica
ant Pitds “”VUS\\\S k- dmenting. e ircreasi~y Fvend

b Re cash badatr sowg Yux e 15 Nty e mort
‘\r@ﬂ\'\% funds  avaliable  fom  TkMC for  phine snd
Pka o use  §o Mav wansivg alier *L{j have pricl all
o Tkmnd's EXPRASES - N gnd Wita  weeq o wntlea bond

bhay P3% ger eshimated b TKMC and that fas 15 bated
i prdictedl furuve sales of WetL and aged W kelie
1A KO onsideho fhor  Ban miahk  not makes Heye
Saler and  dhaY M are LS X predickions . B
e Tﬂ%wu are IHU weknl v prediehine hove errel-

thon ¥ Tmc can vhurpn Haem {QY Hair Ur\id‘(fSLL-'\/.
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The following Planning Template is provided for you to use to develop ideas for your report. ASSESSOR'S

USE ONLY

Recommendation: ke gnould mot expard to o mobile fviendly K
Websike.

Financial considerations

Non-financial considerations

Meceased NC ey 5T wil have pove hme
4 o to Sh)\dj ok Univesihy
ovec  \00 wer® Mgl nveeol Yo -’
vy e sold o adwmese $luoeoo Wik not have [ dva M\:ﬁ
prottt  NY§ — §S1 Tl and an \eave &
- '8 o  GaPablt  hands cF b
y would have \')asd bac Ry
b 10an “whidh wowd i (LTATA CXpeNNCed  UnEnaw.
vy BE b Preserves Hee Llc«\: &) E\-ba
I (m {aM? ,’YUfT\ 36—7’ 2% ROAYT nle  ag Mach
have paid back sL 2ju491iN  shady t bugines!
T e N proht 15 Hewds 2,
' To VL«';{Y

Anning and Yta shod ot eypmnd TKONC  and no

KXY up e wesite  due 10 Loth wcir\a_r\cia\_and non-
financion inforena on.

S'mwh'r\ﬁ N e finandial considerations  the website
W increate  TKMC's variable cost Fom $35 o B46
each asher and  jn_ RN (yeate G Sy lle _
(oN ™o R mavé\f\ \"’“‘“\3 te amount pec bashet
ot can cover ﬁxedS coSt1 _and vetuen o PrO'ﬁl: <o
Anni and  Bita. This & pould  Han \nevease Hhe
bremla@/m (ﬂﬁl’é( a\so {nCreo\S‘\kod-\%e Hced costt fvom
FUB0 4o  SNI00) 4y 390 basheh  from 30
NOreas\ng e d?%CMH’ﬁ oF ma}z‘mg o proht in tkme

More answer space is available on the next page
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N _ordec  fo achieve dhe  $IL, 000 protit libe /v‘@j
predict in Year ane TKNC  odld bhave b sel) over
100 raore baskek  fom 72U year 1 4o 851 Year 2.
0 achiece 4o SIY,000 wacth of prafit . ) Tkme
(ontnues without He website Hen ha  fixeds cash
WU detlregaee  ay H{j nild hove /p,mc/_ back Me
loan mdbjag [t eaSie- R yeach & prott The
new  BE for <f€éf" 2 would e 23U éﬁﬁ_lz_e@ COMNPIreg
B Y baskets d vanr 1 which W\?ﬂﬂ&m_]{%ﬁ
sell _te Sanno  amount of basbet ay %etj did
Z year 1 fo achieve e  GlMia00 prefit (720)
ﬂej would make 37,000 profit  without the
expansion . 71?03 have alSo achieced what Fhey set
Shudear loan So all A )Drcﬁt_‘__(amifﬁ into  TEKMc
ol d be 4 Anhina’s ond Bias.

The Mﬂ—.ﬁmﬂda/ congiderations  helude that withaut
the Gx,mnﬂ_ah Avhina a0 d P[fea C4nN Q}M’nd, Mmare. hne
deazg atr um‘vcm‘hj,,,;rnd ﬁe%“nﬁ betHr _3mda aJS
ﬂw,ﬂ Wt have ,ar)j_ added Sheys  that A/fma/j Connty
with degz‘rﬁ and ,/m,viftﬁ_ A bugsiregs. It wid a)se

Minimyse  Ho charice of having fo #ain new Stalf
which  pond labe wuy exha A ,for Awhina  and

Pita and He aew sta H "‘“”"‘j Aaa—,he,__l/vL@Mu._wu,‘tc

He. .anoN(ed@g A U rest Cand .mauﬂ (1ufe an
Ihocvedse fa__wt/lj baskett oot pould JRCredye  urite olfs)

Ny

evras  or onhappy cushomd. EXpanding  aau Pl
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Write the question number(s) if applicable.

QUESTION
NUMBER

! ﬁf\euaét?z of ore flax  Within  He reqion which
| could result ;o a  Aaster usage of He fax

| and 1t ,mat] be  hardes o maintain Hu 744‘_)(____
1A He aveq. /ﬁ_ffeajeo(frae/uch'o» ot He baskeh
|\@ald ciuse He we of Hax Hat dsnd __rﬁa_a’«j,,,o[d
and c?\zefﬂtdd_uc‘ﬁ'm, harm(/j ML envivrphunt. M,Cf
| Awhina and Pta need t tahe nts  account
|bth fnanciar and pon- fnancial nformaban as ey
|need fo ook aftter  Hemselves ancl Hhe  envirnanent
ratbcr  thar jm&b /_o_a_b'r\j at  He ,ﬁ‘nﬂnr_}fql 1A Fo e han . |
_Unj‘vchJ'{ij_ rAL the  (Core  objechve for Ha hring
eno_utg}_v ~ I thent g}()Mnd{iLﬁ I ‘
- ’ﬁ:{zw fore uff‘mj. _bath nan—ﬁnanuim,,/ snd ,7,{%:4 cral
Infor pmahon which  ave butho ,,eiu_a!/g a§ 1ot Por fgats fhe
| reccomnnendahion s that  Awhina and BEa  dy aul
(O Pane i v b‘u&Jf\u( _m...xf-mr /WG/ S
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Excellence exemplar 2016

Subject: | ACCOUNTING Standard: | 91408 Total score: | 22
Q SIELC Annotation
score

The candidate defined relevant range and explained a factor that limited
relevant range.

All three calculations were correct.
Margin of safety was explained and linked to the limiting of the student loan.

The production budget is explained and is linked to volume of sales and
planning to ensure efficiency in the future.

17 correct entries in the cash budget and the figures are correct in the final
closing bank balance.

A specific example given to limiting the student loan debt and that estimated
sales figures may vary impacting on the loan for university.

A recommendation was made in context.

Linked three examples were given to show an understanding of financial
information and non-financial information.

The candidate used a report format with a high level of literacy.
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